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Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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e K20 fiFe
X 2 25 fiFe
X 3 10 fie
v 4 15 fiFe

% ReA BT el 2
Ans 13,083 °C
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X 2 TR

X3

X o gifeE
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X 2% 12,000
v 3 % 6,000
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Ans
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2
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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foreap:
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Il. I 24 AR 56 AHHg T 3

1 Fad ey | SFERT BT B
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A B C D

Ans X1
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X 2 TSt gF
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Q.6
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TH 1 kg DI & 30 m B HaR 9 YW R RIS o0 ¢ Tod-g0 gRT oban ) & BRI
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<3033 J
v 4 300 J
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Q6 fafifed § ¥ S &1 = AHHM W A § ffefigd (S TE S 82
Ans x.l. W

X 2 GA®
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Q.6 femizht <1 uF -, SHF oifhd ged U 20% e W WIS Wy o oifhd ged W a9 fan 9 e
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A X 1. 25% g1
V2 25% WY
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01-16 Calculate the momentum of a gun of mass 400 kg when it recoils with a velocity of 0.25ms ™.

AmS 1100 kgms?
2. 100 kgms?

3. 100 kms™?
4. 100 kgms 2

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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% PR B T o0 7 fbad WA 8 2
Ans X 1. 6.022 % 1024

v 2 6.022% 1023

X3 6.022% 10%°

X 4 6.022 x 1022

6 - .
@ Mechanical energy is:

Ans (1. The energy released during mechanical work

v 2

The sum of kinetic energy and the potential energy of an object
/< 3. Equal to the rate of doing work
/< 4. The energy absorbed during movement of a body
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Page (25)




V' BRI
X2 Fehy

K2 o
X+ TRgIe
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v gl JU SR HEd 9eT o 9

Page (26)




Q.7 7% 200 gy el vad & FEfo 1024 B9 § &2 Gad & df 39 wad &1 Ao 256 BF O v &
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X 2 850
# 31400
X 41200

Y fpfafad 7 @ F 91 yHR URANU & U eaad e 82
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X 2 FaRIbA

X s g @ HeEl

X 4 PlEq Ty ATRSS

0{37 TR & i IW onpfadl & Yo B oemge B AR 99 Y b oFTel bl i ot gfle

==l

Ans ?(T A
v2C

Page(27)




X3D
X4+ B

Q§7 3T M Py W GO P R 70 IIY & Fufaed § 9 SF O 4Rume sy | safiied S
FU:
wgey R I Ipfedes ffEar 2
RO
I SO 9E SR aaHIfEs fear g
Il 899 ¥ gOR IR # uft gy wfad e § off vioRem o @I Hoigd &R g

e XK1 ad yrom 11 siafifed @
X2 9 4RO | 3R A & 1 safiRd @
X 3 Haq URoT | fdFifed §
V4| R AT S YRUTY Sfafed §

Q.8 fou MU FuA & WL AT Yo & § WS 319 9t § i wdid 29 8 oiR S emur we Tl
0 il 7 Rw Tu Feepel 7 @ 1 4 Fy ahdd =0 I U H SFRY R 3

FY:
%o g @ €
¥o TR AT
ot
1.9 Mg 2
2. ghex @ §

X1 Haq 2 WU H ©
v 2 8 1 3R 2 3R TS B §
X3 4191 2 3RO Bl §

Ans

X 4 Had 1 A0 B ©
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Q.8 1% aw FT UH 2979 S0 & G IG5 BiHY [§g R Ihdl H% & 99 G 1P &g W 3@ ™
T 21 Rifffs @9 arehl ofd @

e XL oyt iR iR
v 2 grafdd 3R It
A2 oyl 3R It
X4 grafdd R e

N - | _ Ve+1 3
2 x-v"g+1 Sﬁqy— 6—1 %’Eﬁ

[BKZ‘I'EIY +3}’z] - Sﬂﬂ aﬁ?
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Ans 563
of 1.
313
: 553
K 2.
535
: 663
g
313
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p i
303
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fmfafad 8§ € a9 9 gduromg 99 e U s § fRd 22

& St vee A o Feart I Fe, H 39 7Y 31 RUE &1 Y use % 9w wRdd & 3t
IegHal § Weiten FT @ §

TF&I'I'\'“IT:
I 39 &7 & SO 5 T8 70 e 5y g
Il. U & Ui Agedyyl WP 8 ol Wi gdyd W ue yHiE Siewdl 8l

o gduRo | SR 11 g & ST ©
X 2 $Had Y4URUN || SfdFied gl
X s $had YdyRUN | AdHigd 8l
X4 9 G gduRon | 3R A & gduRon 1| safifed §

048 wF i Bis #, TEAM & WHDP & ©9 # forg o1ar 81 3 S & COINS. ST Sy forar smam?

Ans  of 1. FRLQV
X 2 FRLBZ
X 3 RVJQL
X 4 QJPTU

oés Viacom 18 Hifgar wi. faftes 3 e Rd) gdl 3+a Red RAwer I | g )
Ans 1. SHdcsY 2015

X2 ¥ 2017
23 2@d 2014
v 4 T35 2016
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S R T A FRAT Sag # GuT 2
Ans x.]a'pg

X R

X 3. QIR0

v fafa

% Apple 7 @ 7 iPad &I AecHIfEr foamy & w9 # Uy A
Ans - 1. 2009

X 2 2008

V'3 2010

X 4 2011

Q.8 Fou, A, g, T SR T U Ui W WS TN SH SR W M Uy &1 SR o & fau fmfaad
8 Tl A B W wafa 2

&1 Ui § 8 S &9 H @sl 87
FU:
1. 91q S ot Rl
2. %Vl gFd &1 gl § da gl
3. 847 31 |l & g=d B g
494 for § ot gl

XK1 PYT 1 R 3 wiE gl
X2 Had HY 1, 2 3R 3 74 g
V3 HYT 1, 2, 3 AR 4 1OQ gl
X4 IWIgd ¥ Y Bis Wl $y9 w@i@ a1 gl
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Qés 85% daq @d B P 91, AP UG HE 1,200 ST &1 BT A I fhar 22

Ans %1% 12,000
v 2 % 8,000
< 3 % 10,000
X 4 % 8,500

069 g+ Bl < & FUH AR % B+ F FY Y RGN I8, AT (25 +30) x 5) X110 I AN I &7

Ans X1 4
X20
X3 0.1
v+ —0.1

Q.9 Name the process in which a metal is attacked by substances around it such as moisture, acids, etc.
1

Ans  of 1. Corrosion
X 2 Oxidation
/< 3. Rancidity
< 4 Reduction
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Qé" URAT ga & Al (PIO) BT Ugal AT GRaT & e fbar mm an www.karmasandhan.com
A 1 9 Fadt 2018

X211 Jdls 2014
X3 2 2@d, 2017
X 4 19 THII 2016

W 2N (4,1), (1,1), (3,5) &R fFa By g
X gafgEg @R GHSI Ay

v 2 fauq 91 fBAyw

X . TSIV WG JAGaE FYS T8

X+ GAGATG WG GHSIUN el
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Qég ofe U FAfEE W 7 MAT &1 BIS KYR B, af 38 HIT & HIS’ &I $9 Torar sem?

Ans X1 FGT
X 2 FGR
X 3 FGH
v+ FGQ

069 e TSR 5 ORI o a1 Se-3Re ST SR Wi ekt ¥, @y & i S 2
Ans o 1 gAY

X2 Sl

X 3

X 4 ool

Q;’ Which of the below is not a part of 5- Kingdom classification by Whittaker?

Ans < 1. Protista
/< 2. Fungi

v 3 Protozoa
# 4 Animalia
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Ans V'I. a@

X adn

< 3 Hep

X+ R

% fauwR 2017 &, TPt fEursd qweR ¥ 58 gmtia e mr o
e o Tl

X 2 S TRy g

X s of. =Mfd IS
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